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1. & < % SET(Secure Electronic Transaction) /& i » i % + % & L oma
A R SRR R Y
(1) = 3+&s 2 Hi=E
(2 TI3Ime 2 PR LB
(3) #iminE % 64 75 ofh B
(4) Bciinm 2 58 s B

2. %802.11 chjg MR H Y - vi- EEHF @ * T] Access Point %% ?
(1) Ad Hoc z f#
(2) Infrastructure 7 4
(3) Ring % 4
(4) M e3F
3. P E A4 R 2 A T AP LAY - pp §E S R
B e R ET AR - ﬁah_" 589
(1) %%z
(2) 2T
(3) Bz
(4) 104 T
4, b B E Y o AT R LKA QAT R i T AR
- JB g ?
(1) overloading
(2) override



(3) inheritance
(4) package

. TG VR— fE x££ 120k 3R B 2 (external sorting) g2 ?
(1) heap sort

(2) quick sort

(3) bubble sort

(4) k-way merging

. — 1% 200 x 400 (pixel) 2> Fi(truecolor)bmp &l > Z & % > FH 7 £ 3% F i
(% 7 #hER)

(1) 10000 bytes

(2) 80000 bytes

(3) 160000 bytes

(4) 240000 bytes

- Bl A& d g A BB RS G 22.05KHZ ) i AER G O16 o g
Mirn T 9% R 505 BGHE - BRBITME F)

(1) 2646K bytes

(2) 10584K bytes

(3) 21668K bytes

(4) 84672K bytes

. ¥ =¥ 8 (machine cycle)® #rinstruction decode ¥_f3t 5 {5 wRip H @ 3 =
17

(D34 & ~

Q)4 E ~

(3l ~

(4)@%] ~H =

. 3% % £ - 1 PB(Petabyte)4p & ** 5 > MB ?
(1) 2*° MB
(2)2° MB
(3)2* MB
(4)2*° MB



10. 3B select sort erpF ¥ 45 32 & &
(1) O(n)
(2) O(n log n)
(3) O(n log? n)
(4) O(n%)

11. When the amount of work that can be performed by the computer system is limited
primarily by the speed of the computer, the computer is said to be in what type of
operation?

(1) input-bound operation

(2) processor-bound operation
(3) output-bound operation
(4) storage-bound operation

12. A billionth of a second is the same as
(1) a millisecond
(2) a microsecond
(3) a nanosecond
(4) a picosecond

13. Which of the following is not true of the star network topology ?
(1) involves a centralized host computer
(2) smaller computer systems communicate with one another through the host
(3) each smaller computer in the network has its own database and does not access
the host computer’s database
(4) any network terminal can communicate with any other terminal in the network

14. Post Office Protocol refers to
(1) the e-mail service that you subscribe to
(2) the way your e-mail manages your files
(3) the manner in which your e-mail is sent
(4) the way your e-mail client software gets your e-mail from a server

15. In reference to mainframe computer speeds, MIPS refers to
(1) master integrated processing system
(2) micro instruction processing second



(3) master integrated processor speed
(4) millions of instructions per second

SRR AL (55%)

1. (a)fr 3} DHCP ~ NAT ? 35 Blfe & 3m 2 - (10%)
(b)# © et i@ port P& Lo fenji* ? (10%)

2. AE T BT - DR S RN E F 2 3R (15%)

3. 3% M NOR @4EM & 27 it @4EM - (hint 3 NOR ZfERM A o % &
AND,OR, NOT i = 8 8IE/ 15 it ) (20%)



. Use “Hash by division” method to store the following numbers into a space of 13
vacancies. 327, 66, 59, 424, 11, 78, 95. What will it look like? (10%)

. Given a sequence of real numbers a,, an_1, --., a1, g, and a real number X, (a).

please write out the most efficient program (the Horner’s rule) to compute the

value of the polynomial : Pn(x):anxn+an_1xn'1+...+a1x+a0. (b) please analyze

and show how many multiplications and additions are required in your program.
(10%)

. Write out the recursive and the non-recursive pseudo-codes for computing the

”j as defined in follows: [:J " (10%)

binomial coefficient (
m mix(n—m)!

. Let G=(V,E) be an undirected graph with V|>|E| and T=(V,E) be a

minimum spanning tree of G. Prove or disprove the following statements. (20%)

(a) All spanning trees of G have the same number of edges.

(b) Any two minimum spanning trees of G should have a common edge.

(c) The path from vertex A to vertex B on a minimum cost spanning tree of G is a
shortest path from A to B.

(d) Minimum cost spanning tree of G is unique.

. (a) Write down Prim’s minimum spanning tree algorithm. (20%)
(b) If Fibonacci heap is used, what’s the running time of Prim’s minimum spanning
tree algorithm? You should justify your answer.
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B ° v &
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. #0(n!), O(n%), 02", 03", O(+/n), O(n log? n), O(n log n)d - 3|+ £ & o
(10 %)
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I. Vocabulary and Grammar: 40%

1. The chairperson introduced the speaker ___ then she left the hall. (A., B.so
C.when D.;)

2. The main street should ___traffic-free, so we can walk around the shops. (A.
make B.making C.be made D.be making)

3. Thegirl ___ loves swimming. (A. I work with  B. whom | work with her C.
whom I work D. I work with her)

4. Hundreds of people would ___if they were not there. (A. be died B. have died
C. had beendied D. die)

5. Annie ___ for six hours and is expected to reach the French coast in an hour. (A.
have been swimming B. will be swimming C. has been swimming D. is
swum)

6. What would you do if you ____a million dollars? (A. have B. have had C. had
D. will have)

7. Our health is in danger ___ pollution. (A. resultin B. cause by C. because D.
because of)

8. At this time next year Peter ___in Chicago. (A. will be studying B. have been
studying C. be studying D. was studying)

9. Suzyswims in acollege team. By the age of seven, she __ to swim. (A. learn
B. learned C. was learning D. had learned)

10. St. Catherine College at University of Cambridge was ___ | stayed in England.
(A.which B.what C.where D.that)

11. Cathy has been in England for two years and has got used to ____ on the left. (A.
drive B.driving C. bedriving D. be driven)

12. They accused Tom ___ thelies. (A.totell B.fortell C.oftelling D.in
telling)

13. The typhoon ___ severe damage on the seaboard villages. (A. conflicted B.
inflicted C. afflicted D. affected)




14. Johnwas ___ of David’s integrity. (A. critical B. incredible C. skeptical D.
debilitating)

15. The international situation today is ___ by several powers. (A. eluded B.
contained C.ensued D. manipulated)

16. Rick decided to give up drinking when he was informed by his doctor of the
effects of alcohol. (A. obscene B. bizarre C. ambivalent D. toxic)

17. War ___ after a long period of peace. (A. submerged B.emerged C. erupted
D. vanished)

18. The psychiatrist charges $5,000 per hour for his__. (A. diagnosis B.
hypothesis C. thesis D. osteoporosis)

19. He tackled me and ___ the ball to his chest. (A. pitted B. perceived C. delayed
D. clutched)

20. Have you ever had the __ of losing a lover? (A. anguish  B. reference C.
obsession D. allure)
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I11. . Translation (from English to Chinese): 30%

(A) The reading process involves two main tasks which are complementary: visual
analysis of print and understanding text. The two activities are interdependent.
“Reading” words without understanding is “a string of meaningless noise”.
Understanding a text without having processed it is impossible, “an empty dream—a
figment of the imagination. Neither is reading: reading is both.” *



(B) The disciplines encompass far more than the personal knowings of any individual
scholar. They are the established knowledge of the world at a given time, but inquiry
goes on more rapidly now than ever before. New concepts overthrow old ones, and
new investigations begin. Only a few years ago, the earth was conceived of as a
somewhat flattened sphere. Now it is conceived of as pear shaped. The satellites were
able to gather vast amounts of data quickly, and computers were able to process some
of the new information within hours.
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